MCT 4CI Homework for 2.7.1 pp.217-218 .
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1. Use the graph to estimate the zero(s) of each function. o
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2¢)  Solve graphically: x*+2x=5x-10 PN 0 o £
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4b)  Use a graph to approximate the zeros of the function: q(x)=x>+x-15 H=oSn ZkF
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6. a) In exercise 1b, can you be sure there are two equal negative zeros? Explain. ! ST
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b} If there are not two equal negative zeros, what other possibilities are there
for this function?

¢) How could you tell which possibility in part b is correct? Explain.

7. Consider the equation A% — 2x = 20,
a) Solve the equation by graphing ¥ = +* = 2x and y = 20 and using the
points of intersection to determine the roots.
b) Solve the equation by graphing y = +* = 2x — 20 and using the
x-intercepts to determine the roots,
¢) Compare the methods in parts a and b,

i) Does one method give more accurate results than the other? Explain.
ii} Is one method more reliable than the other? Explain.



